MEBERSAE (7 h—HRIL )

1. #iE= XYLZRES1=vwFk
2. Ba=

BHB)

EZRI

3. HFEHET (B1
(1) BBES (EFHED)
(2)7vh—RIL b+

OrAH

@44 X - Bk

@ 1AL} Y OMBTER (FEIC &L D@

@RBERZEEZBEDSEIRY 2R T2 /FBIOT U A—HRIL FDOBREK

(BFEAFELIYBBRELETOES
(4)REHT 2AMD DAL F R/

(5)BET 2HAD HAHFAIL kil SHBEDFE TOMER
4. BREHE (FRONMHERUT2HBEZEEAALTEY)

(DREAATRE  REAREEE
5L 4

(2) BEABERRE

(3) WEAKTIRED

(4) BEABEBEN

(8)7 > h—RIL FD5IRA
(8)7 2 h—RIL bDOEAMH
(7)7oh—mRILMZETDHNE

Rb=

@3IaRENE

Qe AMIEHE
QIR EBFAMEREFICRIT 215E
=12 L. fts’' =fto & Efts=fts’,

(8)7vh—RIL FDEIR
OF7 v Hh—HRIL bOEIR
@arvy)—troES
@RIl FDEBAR S
@HFBBRFE

Ks=
7=

Fh-Hg~(W-9.8-Fv)-Lg

1.0
1.0

PUZ-ZRMP112KA12, PUZ-ZRMP140KA12, PUZ-ZRMP160KA12

L-Nt

fts' >fth & Efts=FtTHLID T
1.6

o=

W= 99 kg
N= 4 X
=M 10 i
A= 78 mm2= 78 X 10-6 m2
Nt= 2 N
Hg= 540 mm= 0540 m
L= 370 mm= 0370 m
Lg= 180 mm(Lg=L/2)= 0180 m
Kh=Z+Ks= 1.0
Kv=Kh/2= 0.5
Fh=Kh-W-9.8= 970.2 N
Fv=Kv-W-9.8= 485.1
= 590.0
Q=Fh/N= 242.6 N
RILE(SSA00)DEFARBIIRIEN ft
0=Rb/A= 7.6 MPa <ft=176MPa
HRILH(SSA0)DHELEAMIES fs
T=Q/A= 3.1 MPa <fs=101MPa
fts'=1.4ft-1.6 T = 241.4 MPa
fts= 176.0 MPa
MPa < fts= 176.0 MPa
= FERERIBToH—
= 120 mm= 0.120 m
= 70 mm= 0.070 m
Ta= 3200 N > Rb= 590.0
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Hg= 540 mm
Lg= 180 mm
X= 360 mm
L= 370 mm



